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:Dl;iag;mf{msmnm@

Boviens ufiLeag ememdasomd
—/ n
oor nELT @I (6r+1) = n(3y
L. seflpg Opnessdon Gemun Ll LwaALGHS, e n€ | ( +q)
& Poieys.

n=1 QmHG @ am&. U =6+1=T

6U.em&. L. = 13+4)=1 @ For verifying the result for n=1

n=1. @mhe Cum o aTELWITETES

FUrsmulguh GEIT Hlenm 6Teir 6Tere

n=k QLG UM 2 TEMIDWITETS! 6TEUE Q& meTGeauLD

S (6 +1) = k(G +4 @ M"e"t forn

r=]

k41 k

2(6""‘1)=Z(6r+1)+{6(k+1)+1}

r=1

=k(3k +4)+6k+7 @ )
in"n=k+1

=3k +10k +7 —
. ‘ (k+1)(3k+T)or equivalent seen
=(k+1)(3k+7).

= (k+D)[3(k+1)+4].
WECA @G n=k, CLM o @r@WTTTEH6T n=k+ QDEL LD

For substituting "n=k result"

2T DWMELD. 7 = 1 @)HE CLIM 2_@IenLoWLITaTsS! 6T6rm BT g a6 Ga
ploelwerGarmid @HOmHS &evis Qg,ﬁ@g,g,m]qué': GamL LUy mEsL L
TG n € Z+ @& ELD UL 2 GTenLOW TS TG0

conclusion with the "Principle of
Mathematical Induction”. (Given
only if all the other steps are correct)

FEET
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Seomieos UL enad Havewrdaemd OlbGEumisDNen g

2. ¢6r auflluLgHed y=2|.\-+l|.y=2x-|x|a1,a§1wmlgimﬂcsr QULIBEMETY  U@LUGWITS  aiengs

_of :

Bpsiohal ovwE Cam  oigors, T 20x42|t|x|=4 B HoLBurdgnd x Ger
a6beon Gl QuEITEThIGEETUYD  STews.

Graph of y =2|x+]]

.
[20Y G I,
1
._.

/-2

Graph of y=2-|x|

20 el GUysTalluller x — oy aramm x = 0.
OHOW Qe Gl serflufiedr x — oy eTgn.m x < —1 QDS

“2(x+1)=2+x @erme FFLILEILD

4
- r=0and x=——
Q&5 mha x=—§. @ » *=0and x=——seen

! :-%- substitution or

X .
1= 2t 6T60TSh. @ . : equivalent

STUULL ewefleld

2|21 +2|+|2t| < 4. ereT LD
@8l 2r+1]<2-||. @D FLETONGLD
suemyLlefmhHE

—iStSO.
3

8 . correct solution seen
S.——<x<0. :
3 - .
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SIHEHISDNGTE)

Beomiens L ewes, Henesrisemd - T
= = = S
Aliter 1:
.suemgua%@ ®+®
Case (i) | Xx < -2:,

STEOfletT, 2[x+2|+[x|<4 © -2(x+2)-x<4.

2566l ey s —§Sx5~2 05 BHELUBWTSESDy @6 QUDIDTUTMSMTELO.

Case (ii) | —2<x<0:

STEOTl60T, 2|+ 2+ || <4 e 2(x+2)—v<4.

Sox<0.

2bBCEU -2<x<0 85 HEUHWNEELD x G6T CLIMILOTE M SETTELD.

Case (iii) | * > 0: ‘
;6
eTenflea, 20x+2+[x|<4 ©2(x+2)+x <4
Sx<0 :
. ) All 3 cases with correct solutions
&G FIT6Y &6 @) 60eme6v.
only 2 cases with correct solutions @

-~ SIUULL Fwefleduler §ieyser —§Sx50. 85 HHLUHWTSHGLD x §)6r

QL O)LD T6OT M S EITMTG LD @
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Beomiens UFLenes Hevswrémemd

ibsImisIeg
Aliter 2:
amruse (5) +(5)
2]x+2|+|x|< 4 ©20x+2| <4-|x].
J)
Both graphs
_—7
y=2|x+2|
7 2
3
x=0andx=-= seen
auenyUlellmHE S,
2|x+2|s4—|x|
o __g_ <x<0 @ correct solution seen

M
-  ——
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Beomiews ULees Pevemsembd 5 '
' CAUTEGD  FoE0e06 g
: A g}@ y@uﬂ &y ZQ
3. o aussn  aflluLHEe0, Arg(z-1~i) B —uﬁrai o
: el (U .
amaEhEch ysielssis gusmEd u® g g S ALTEED -2+l -
(iz+1 —'F) =4 "

QANGHS Disvss Gagl alBHLTS, Arg

Qugonerd L gms s1l6s.
' 2

Arg(z —‘(1 + i)) = ——Z-

Y

,@ —

g\Q;,,,,———f’9x

Afg(i(z—i—l))z%

n L
SArgi+ Arg(Z -1+ 1')) =7 Breaking the argument of the product
o . T
i to a sum, and using Argr = >
cArg(z-(1+1)) =-—
4 .
Recognising the minimum distance
min|z—(2_,')|=AB 1
1
=1-cos—
4

1 @ ’ Work leading to the answer
2

vyl
N

10 - Eeveias Baafib LSS - | (Lo auprixid £U115)— 8.6u5 (e wh £0)0 UfLsos — 2021(2022) - Bpd ook . 1

Scanned with CamScanner


https://pastpapers.wiki/

Seomicns UL e s, Henewrdsmemd DIBEIRIGLIEN g

Aliter:
UMTULS S &S @+@

z=Xx+iy 6T60TS

%=mgw+bﬂ=A@0—yHu—m
x=1=)(1-y) @ Writing the given mformahon asa

relation of x and y.

= x+y=2.

|z—2+1'l=|x+iy—-2+il

=|(x=2)+i(y+1)

=|y+i(y+1)| (wx=2=Y)
P +(+17
1 . Writing the absolute value as a
J"*‘ - complete square of x or y.
2 2 .
1 . 1Y 1 .
2_2,6IQGUTGUﬂ5U 2 y+-2— 20; y:—-—z- %@mcu”—@ = 9LGLD.

. g1 '
mm|z— 2+ Il =—\/—§- @ Work leading to the answer.

g
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0

alIB;wrﬁ,%nm

&l
Qeomiens uﬁimﬁ_
fufed sitem X7 @ Gomgy

l L]
. 1GeuiD. (Jr2+£.)| @it AODEH : o (x\{
4, k>0 qenrss GQemimen X b gmG\mG"Qb {DUUULGGTIETTQ}J. k:] 67@]&) ,‘2]
-7 @6&1 @Gm&wj g

k >o0. (xz + f)n; QOGS

L(EY 223 g
WAY Ll IS = 2
Toey ="C.(x%) (J C,x @ Correct value of r

22-3r=7=r=5

e S @ Correct ;:oéfﬁcient
~x7 @er @ersld = "Cq ‘ '

) o] ’_ ERMNAL i1-3r
(x_—lz_J . @b T, ="C, " (1) (?J =(-1)""'C, x.

x
¢ ] f &

11-3r==T=r=6 @ ,—Correctw ue of 7 \J

@ [fCorrect coefficient \'

- x~7 @6 GewrssLD = 'C,

28Geu,''C, = 'C, K = k=1, g@arale) 'C = "C;.

Work leading to the answer
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. - 8in 2% N
5. lim _an2X-sin2x _ _ 4 geip s @e.

x=0 xz(x/ﬁ—x/ﬁj B

im tan 2x —sin 2x
%90 X (J1+x —1-x)

sin2x

—sin2x J A=
- cos 2x ( x4+ x) Multiplying by the conjugate
lmx—»o 2 N
P W+x-+1-x) (\/«/1+x+x/1—x)

. in 2 - 2x
= lim,, Siftex x(]zcos l)x(\/]+x+ l—x)
2x X" cos2x

1

X X

. sin2x . sinx Y ) 1 .
(hmzxqo e )Xll_lpOZ( ) x (}1_1’110 COSQx)X ]mb(\/l+x+\/1—x)

I x 2 xlx

2
@ @ @ ' Each limit @
4, -
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0y
orios uﬁw \

Aliter 1:

lim {an 2x —sin 2x

x>0 xz(m_ﬁf;)

lim sin2x(1—c0s2%)
x—>0  x'cos2x

lim  sin2x(1—cos’ 2x)) . -
= ¢ 0 x2cos2x(1+cos2% |
. lim 1 lim \/iTE+ —
lim sin2x 3 olim ] — )
:4(2 0 2 v — 0c0s2x x— 01+c0
xX—> X

=4 x Ix1x1x2

Jocoo
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Beomisos UL eoa s Bememra.semb DIBLUmRIGLNET )

Aliter2:

lim tan 2x —sin 2x

x>0 (\/I+x—\/1—x) @ multiplying by the

conjugate

lim -l-x( 2{anx  2tanx ) 1 x(“1+x+ .l—x)
2 +x-1-x (\/1+x+ I—x)

Tx=0x2 U—-tan’x 1+tan ’x

_lim 2tanx2tan’x)  Al+x++/1-x

x>0 x*(1-tan"x) 2x
lim siny)( lim 1 ( lim 1 lim-

=g M SnX L R Jrr+iox
x>0 x x=>0cosx) \x>01-tan*x lx—0

=2x1x 1x1Ix2

K0'000 N0

Setting up the integral for S

e
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o o enenenL&SILGD
6. y = IL-E, y= O, x= 82 a!.aﬂu_[ m@ﬂﬂlﬂ&ﬂﬂsﬂﬂﬂ)
X

Beoriens, ufi e Hevamésembd ///{N
mgewm

. . ey &M GE- , . '

S @e uyiuemey 4 SET SIGSET seNgILI®E  SPBDUILUGS sy,

. R . anyuw
Jp8pad S geml x-SIFIU upd SZJT i 0 @m}%
— !
UpiissiuGn Hehder STy ‘512 o YA m

.....
,,,,,,,,
---------
-----------------------------------------------

s
........
........
--------------------------------------------------

................................................................. B %
1 62\
X

--------
--------
---------------------------------------------------
------
---------
----------------------------------------------------
-----
--------
........................................................

..........
...........................................................

...........
---------------------------------------------------------

Integration by parts or
equivalent ‘
1 g v
4 @ Work leading to the answer

¢ (Inx ’ Setting up the integral for the
CHemeuwImer sareuetey= [ 7 7 dx olume

O

2 2
=”Je (Inx) ;
! X

82

(Inx)

=7

8 @ Work leading to the answer
= —3—- . ‘
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Beomiens LJL5s Hener1bHamd Db SISDNETE)

7. 1#0@D® x=ct, y=% QLAWaIBBeNTsd LpoTeIPEmBLTGES SHILUEL GomGorswr SIFUTEIENETTEY GG
yetel P = (C/J. %) @0 o siien OprLedd Gasrlgst FoEUTE Xx+ply=2cp ams  &1E5.

QsvuPureenemasel P @6 2 s Gasisusit C&1E oiBuyeusnemsnsy GeuGmmm ysiel Q = (Cq‘ E) B0
wguguh FhPsdamg. plg=—1 ams sTLEs. )

Lo, Z=—Z (120)

dt T 2
d N
'-d—y= é——g___l_ w_%intermsoft
dx _d_x c t2
dt
- : . . 1 1
B P®m QE”L—G@US]GUT L“_q_g@mgm’ =—F = —?—
I=p
~ P @6 Qs rLeuller FeTum®
y_i = _"1_2 (x—cp) Work leading to the answer
P P
“x+ply=2cp.

P @6 QFeucuenfletr LIy SHmer =P’

Equation of the normal

- P @)6) Q&F6ueuenlleir FLETUTE y—— = p*(x—cp) / @
P 3

Qz(cq,g)@és@ésﬂimeb QB&GD;

E—-i:pg(cq-cp) = c(p-q)=-p’ge(p-q) @ For the substitution
qg P

P, 0 GeumiGeummenr L|6Terf|&6T eTedTLIS M6 p#g.”
Work leading to the answer

pg=-1
Aliter: (For the last part)
» For the condition
PQ @67 L9 HH MeT = P @6h QFcucuetller L SEmer
e :
q P _ p2 @ (2 p#q,c#0) For the substitutions
cq—cp
pa g=—1 @ : Work leading to the answer
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B50me,,

ﬂa,ra
Beomiens Lfengd Henesr %
8

(B[BIJ(BGBW(B .2
Qe i $ollen -
Qb 8IS B! 8y
5 B=0,8) 62 AB Bp&F ©° ;
A=(0,-1) ﬂ:ir_:-l[mﬁl C BgomLm . @ng@wﬁm’ ’ US@] 2_gften Ll
@beﬁ@émm(; gens BMBS FLoMHBILOT

x+y

My
1 BPGF
AD syong GpyGa16 = 5;1;15“’6"& il

617

f
' B A — x
QmrsiiGaumb. D BT £

B(9,8)

20)+16) - 1)+1(8))
E( 241 2+1

=(3,2)
4B Q6T Ly S\ metr =1,

l For the gradient of ;
Q180T L BB\ meir 1 = @ i
~ L @ebr ELO6OTLIM(p)

y=2=-1(x-3)

Le. X+y—-5=0. @

Work leading to the €quatiop
of |
D, I @6y QGLUUsSTd p BE5-1) ,teR erenr TO&HGss,
AD @\eir FL&TUNg); 5 - (=D)=5(x-0)
b@s&eam g Qeuusme,
S—t+1= 5t.
=],

Wori< leadin
of D

“D=(1,4). @ D=(1,4)eeq 7

g to the Coordinateg
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9. Gpy8sTB x+2y=3 geiE AL S=x2+)y -dx+1=0g Bn GCupGuprm Usisisais
B Ol Gdapload ol (.
@aal ysafsefgmmsamp el S=0 B ovusHILTSAD CFdQID AL SH6T
FOGTUTLMLS  HT6HIS,

S=x*+y*—4x+1=0
L:x+2y-3=0. 6T6UT&
L,@6v x=3-2y;

(3-2p)*+y* —4(3-2y)+1=0

55y —4y-2=0 Forming a quadratic
WsassHL1g A=16+4(5)(2) @ Writing the discriminant
o A>0,2,5600m60 BHMEH x+2y =3, For A>0

S Letr @revor(® Geumy Geum Latelgmefley @emL@eulHILD.

G emeuW e el L& & er &erUm)

x4y —dx+1+A(x+2y-3)=0, @ For'the A form
@EGL1ER

@euaul_L LD (2,0) 2ETLTE QFLRILD 2, &6UT6V,
4-8+1+4(2-3)=0

o A=-3 A=-3seen

- Gaemeuwl e eul_ L &H 6T Fnearum@)

x> +yt —dx+1+(-3)(x+2y-3)=0

ie.x’+y* =Tx-6y+10=0.
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SYGLD- ,
BFsSpz, SEUTB €05

205> x+2v/3sin xcOS ¥~

=2cos’ x—1+x/§(25in x€0S X)

=cost+x/§sin2x

=12 lcos.’Zx+—\/—§—si112x
2 2

e 2cos(2x—£)
3

QRGR=2,a=

|3

=1 m& Q?JM ) . 51

+/3sinx cosX

1

Writing the expression yg;,,
cos 2x and sin M

R =2 seen

/A
& =— seen
3 \,

FETUTE cos® x++/3sinx =1

©2cos? x+2433

inxcosx—1=1.

2C03[2x—£ =
3

L, 5HG6U cos[Zx—zJ - _1.
3) 2

2x-% =2nr +

Vg
Lx=pr4+ 4+ 2
6

10 - Beam -
M%”m-ltuoﬁsmw

Zonex
- n
3

V.4
;s METZ i
: @ Correct solution seen

m'@lf:ﬁ-l.lf»)-&.numb (B8 £ ft o .

2021(2022) - s, Apsgrimet o stem s 18
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Seomieos LFLEDTS HEemIEseTD SIHSIMIG NI

1. (@) k>1 aeté GaneBard. Foaur@ x2—2(k+ 1)x + (k-3)2 =0 @@ CaupGaumrer Gouid epsomiae
Amsdamamteuas &M [Hs.

a, B syfwer @ibpeorstenend GsraiGumb. a+ph, af adwapmn k Qs awd, o, f W
Suemilo Cuyre BméGLIR kB QUDIDTERIRISMES HT6ws.
BUBurgl 1 <k<3 sené OsmsiBaunid. Ja \/E SLEWUBND (PRIBNTES CETamL B(GUIGF

FOFUTL ML Kk B6d &Tewie.

B) fO)=23+axt+bx+1 aetayd gx) = x> +cxl+ax+ 1 aemayd QareGamd; @ve a,b,ce€R
s, f(x) s (x—1) Bamed augdstuBblurg 5F 5 aarab g(x) g X2+ x— 2 Qs
uGSsILELBUTE B8 x+ 1 eemayd Syoul@etengl 4, b, ¢ SSwaupar QUUILTEHIGEmETE
BIT6W1 5. .

o | . . 13
Gugud a, b, ¢ QfwappGsTe UEUEILTEHEELLT awsr xE R Ghed f(x)-2g(x) < 13
aars ST, '

(a)

x* =20k +1)x+(k=3)* =0. Getr NG &I66HTLIY

A =4k +1)? —4(k-3)? @
=4(k+1+k-3)(k+1-k+3)

=32(k -1). @ ST

k>1, 8,8560m60 A > 0. @

- QUOUIWITET Geumi GeumITET eLNGVMHIGH6T 26001 (H)

a+p=2k+1),af =(k-3)+ @ @

a, f @@ CHITERSTE @B,
a+p>0,af>0.
k>1, QL560m60 a+f=2(k+1)>0 @

S SIL6T of=(k-3) >0k#3.

. k@) 60T G5 EmeUWITeT GLIDILDTENTMEI&6T 1 <k <3 ork>3.

S S S ettt
---------------------------
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ST
Seomians L amss HapemméemLd Bloeng,

@ueung | <k <3. 676576, >0, B>0. BTV
1 1 (3) 600 60T LOGUIEI G 6T e G\ BITETorL &ms&rurr@ (x——l—)[x—_l_}o
:/—_c; :[7 \/; \/E (s

1o @

( L. JL_]H =
mxz—(\/(;i\/ﬁ)x+f=0. @

JoB =\J=3)" =|k—3|=3-k (- 1<k <3) SGID @
ggg\ll_eér(«/a+\/ﬁ)z=a+ﬂ+2\/a_ﬂ @

=2(k+1)+2(3—k) @
(9

.-.«/5+ﬁ=2ﬁ @
S ELETUTH (3-k)x* —2V2x+1=0 @

f(x)=2x +ax® +bx+1

g(x)=x"+ex* +ar+1

J(x) (x=1) @ermeh uGLILIBID CUTEl LB 5 augeumey, LB CahmgSer Lilg,

fy=5.

S.a+b+3=5
a+b=2.

OO

g2(x) Qparsl x* +x—2 @MV eUGLLED U LSE) x+1, 26060

g(x)=x+ex’* +ax+1=(x"+x-2)(x+A) +x+1ford € R, @
((x9));1=-24+1= 1=0.

cg(¥) =x(x* +x—2)+x+1 @ @

=x"+x*—x+1.9,&C60c
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— ufiieo5s HenETHEHELD

oo . DihEITRIG DTG
/_'— e

F()-28() = 2x" —x? 30 +1-2(x" + 2% — x 41

=-3x* +5x -]

2
=-3 (x—-i] —2—54.1}
i 6 36 3
==3 (x—ijz_lj
i 6 36
-13 %
-<-—3X(—] ,since (x—_) S
36 6 0.

]‘i
f(x)—-Zg(x)S%. @ [E \ //1:\\ > ¥

W
e ——
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- i i b & BISENETE
GasILBD 4 Be0&HEHMBISEMETH Q&”%L |

gemes UfLETS

aen 10 @mmwﬂmﬂ@wﬁ{ N
M DIDEHS GeueiiguieTTendl -

1! lg 1- 2- 2: 3) 39 4; 5v5

. A
0 Qwrj’@ﬁ@é&”“ . %aszluﬁxjmﬂwmﬂdt

i) o 15 (@l RAEACET , | |
O B st Qgﬁﬁf_fi G : gremaeNe qenTalEmems ST,

12. (a) &0 gsm'Juu;@
4 @evsd 6160
b GeupUL L smeuTE @miilar,

G acoeor 4 B0

SEEHEEE SHSMEL Gev

_16r° +12r° +40r+9  gends QameiGeurid.
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@ + @ cos(A+B)+cos(A—B)=2cosAc0's'lBl'-' @

: . . . C+D C-D
A+B=C eTereyld A— B =D, eTeoTeyld Q& TaTeUSHTey A= 2 ,B= 5

.. cosC+cosD=2cos C+ D cos ¢-D !
2 2 10

@UIAuUmp&l, cos C—cosD =cosC +cos(r — D)

=ZCOS(C+(7r—D))COS(C—(fr—D)]
2 2

. (D—C). (C+DJ L
=2sin sin ,
2 2 ‘\"-’“"‘ L
. (C—D) : (C+DJ
=-2sin 5 sin . -

2

....................................................................
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cos 9x+cos 7x+cot x (cos9x—cos7x) =0

) cosx

. 2c0s8xcosx +— (=2sin8xsinx)=0 @
sinx

ncosx=0 SIEVEVEl (cos8x—sin 8@

~cosx=0 9eVeVgl tan8x=1.

(sinx#0)

!

meL@nG x=2nmi-g—g|6beugjne Z Q& 8x=n7r+%:—'

MmeEL@NGS x=2mr+2% o : el it
& 20"’46\)6\)@116%@[9@): 8+32 + 20

(b)

GaMen&aT QB WsTUlguAwmm waesTanl ABC @HE @
a* =b*+c* —2bccos 4 AGD |

oy~ >0

Blmieuev : C QaBHS AB LG Tar CIFHIGEE6T 219 D 6TeTs . LGSV

CoppEEsT g BC=BD + DC'—o{(1)

CUED & (i) A T [TTEIGEHTEWTLD 6T6vf160T; eUen & (if) 4 6l fl Gasmevvrin erevtledr
DC =bsin 4 DC =bsin(z — 4) =bsin 4
DB=c¢—bcos A @ : DB=c+bcos(m—4)y =c—bcosA@

. @ ajsmasaaaﬂ@um,@=> a* =b*sin A+ (c—bcos A)
— b?sin 24 +c? —2bccos A +b* cos® 4

= b’ +¢t —2bccos A (. sin 2A+cos® A=1) @

A= 21 &GUTE cosA=0 LHMU CUEn & G6rTl gL @ﬁ: Bl&WLD.
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: w3
b ¢nﬂ+3-.6TGUTEs (cosx#0)

. 2s5inxcosx "
§in2x =————xC0s" X
cos” x

_ 2tanx
sec’ x
_ 2tanx @
I+tan’x ; 10 \

________________________________________

sin2B=—2—‘1 = B Ga[JTRIGSITEUOTLO
10cm 25

b
2t 24 )
. =—, 11165 t=tanB@
1+12 25 8

1212 =25t +12=0
(41-3)(3r-4)=0

NG RO
4 3

. B QW& @) Geumy Geumrer & reayser 2-6or(k)
" @) Coumy Ceumrer (L& G mevorles T 2 6007 (h)

A 20cm B

B &[T TR G & Tewor LD cosB=%or cosB=%

When cosB=%; AC* =(20)* +10° —2(20)(10)@) = AC=24/65. @

cos B =%; g,g,ebasuﬁ'lsb AC? =(20)* +(10)° —2(20)(10)(9 = AC= 6«/5@

(©
a=sin(1+e) 2. atetr& (1+e™) 2 >0, QLen&WTeY o FolJ TR GHTERTLD.

X -

1
eTeor e sina=(1+e‘2‘) 2 =§_;*_2
1+ (e* o
Stang =¢€”. @ 1
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\lﬁmﬁ,&mmmm

STUULL Fwerurl 1gemhe a+a=4.

NI
2tan
> =tanA @
l-tan‘a

ezx +e.\‘_1=0
=N0
=  e=—
2
¢ >0, aymawme ) GO TOSHLILL WS

x___1+\/§

2

ufE) (9

x 60T GLICIIDILOTETLOTETE STLILL FLoeTumLenL &G

951

L6 QFULIGITDE.
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